4 3 ¥ ) | 1
PARTS LIST
ITEM| QTY PART NUMBER DESCRIPTION
1 1 [7000-1190 Torque Tube
2 1 [7000-0910 Bearing Spindle
3 1 |7000-0470 750 Caliper Piston
4 1 |7000-2340 Cross Bar_Truss
5 1 [7000-1990 Top Angle_Trim Spring
6 4 |7000-0310 3125 x 156 Conical Spacer
7 1 [7000-0900 Cap Washer_Bearing Bolt
@ 8 1 |7000-1210 Brake Pad Shoe
9 1 |7000-1230 Brake Pad - 6175K842 - 3/8" x 2
10 1 |7000-1220 Brake Spring Cap
11 1 |9657K349 Return Spring_Rotor Brake
12 1 |Bleeder Screw Bleeder Screw
13 1 |5220K13 1/8" Tube to 1/8" NPT 90°
@ 14 1 [90025K238 Dash 116 3/4" x 15/16" Quad Ring
15 2 |90183A214 3/16 x 3/8 Rivet Backing Washer
16 2 197447A060 3/16 x .5 Aluminum Rivet
17 4 |No. 8-32UNC - 1/2 [Hexagon Socket Head Cap Screw
18 2 |AN4-17A 1/4"-28 x 1 7/8"
@ 19 4 |AN960-416 1/4" Flat Washer x .062"
20 2 |MS21042-4 1/4"-28 Stop Nut
21 2 |AN5-13A 5/16"-24 x 1 3/8"
22 4 |AN960-516 5/16" Flat Washer x .062"
23 2 |MS21042-5 5/16"-24 Stop Nut
24 1 |AN8-34 1/2" - 20 x 3 1/2" Drilled
25 1 |AN960-816L 1/2" Flat Washer x .031"
26 1 |AN310-8 1/2"-20 Castle Nut
27 1 |AN380-3-4 3/32" x 1" Cotter Pin

PART NUMBER:

PART NAME:

Torque Tube X1

Rotor Head_Torque Tube

S~>r=20 T=CANIC

sales@gyrotechnic.com

31196 490th Street, Kasota, MN 56050
507-243-3991
www.gyrotechnic.com

THIS DRAWING AND THE INFORMATION HEREIN IS THE EXCLUSIVE PROPERTY OF GYRO TECHNIC INC
AND IS NOT TO BE REPRODUCED OR USED TO MANUFACTURE ITEMS FOR USE OR SALE BY ANY OTHER
PERSON OR CONCERN WITHOUT THE WRITTEN PERMISSION OF GYRO TECHNIC INC.

JAN 2

1




REVISIONS

Rev CO/PCH# Description Date APPROVED
A PCH00009644 |Initial Release 23 Sept 2021 |MLM
TOLERANCES TITLE: -UNLESS OTHERWISE SPECIFIED ALL DIMENSIONS ARE IN INCHES
Y XXt X -UNSPECIFIED DRAWING PRACTICES PER ASME Y14 5M 2009
- -CAD DATA FOR THIS PART CAN BE MADE AVAILABLE
XXXt - XX UPON REQUEST
XXXX: 2 - XXX -INSPECT ALL CIRCLED DIMENSIONS AND NOTES
XXXXX: £« XXXX PART NUVBER: SCALE:
ANGLES:+ ANG MATERIAL:
FRACTIONS: + FRAC DOCUMENT NUMBER REVISION:
MEDTRONIC CONFIDENTIAL DRAFTER ENGINEER: THIRD ANGLE PROJECTION SIZE: A '
THIS DOCUMENT IS THE PROPERTY OF MEDTRONIC, INC. AND MUST BE ACCOUNTED FOR. INFORMATION HEREIN IS CONFIDENTIAL MLM @ B SRAETING LOCATION: ST
DO NOT REPRODUGE IT, REVEAL IT TO UNAUTHORIZED PERSONS OR SEND IT OUTSIDE MEDTRONIC WITHOUT PROPER AUTHORIZATION. | 1

3

2

2

1




